
Problem No. 1: 
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Problem No. 2: 
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Subpart 5 

Subpart 6: Portland has the 
highest number of miles for 
the BYD K11M (29.54M) 



Problem No. 3: 

Subpart A: Make sure it is a public function and variables are declared using Option Explicit. 

Subpart B:  

   e: 
   0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1 
             
Speed (v) 

(m/s) 
f:  Horizontal radius (R) for corresponding value of v, f, and e: 

0 0.2001  0 0 0 0 0 0 0 0 0 0 
1 0.1969  0 0 0 0 0 0 0 0 0 0 
2 0.1937  2 2 2 2 2 2 2 1 1 1 
3 0.1905  5 4 4 4 4 4 4 3 3 3 
4 0.1873  8 8 8 7 7 7 6 6 6 6 
5 0.1841  13 12 12 11 11 10 10 10 9 9 
6 0.1809  19 18 17 17 16 15 15 14 14 13 
7 0.1777  27 25 24 23 22 21 20 19 19 18 
8 0.1745  35 34 32 30 29 28 27 26 25 24 
9 0.1713  46 43 41 39 37 36 34 33 32 30 
10 0.1681  57 54 51 49 47 45 43 41 39 38 
11 0.1649  71 67 63 60 57 55 53 50 48 47 
12 0.1617  85 81 77 73 69 66 63 61 58 56 
13 0.1585  102 97 91 87 83 79 75 72 69 67 
14 0.1553  121 114 108 102 97 93 89 85 81 78 
15 0.1521  141 133 126 119 113 108 103 99 95 91 
16 0.1489  164 155 146 138 131 125 119 114 109 105 
17 0.1457  189 178 168 159 151 143 137 131 125 120 
18 0.1425  217 203 191 181 172 163 155 148 142 136 
19 0.1393  246 231 217 205 194 185 176 168 160 154 
20 0.1361  279 261 245 232 219 208 198 189 180 173 
21 0.1329  315 294 276 260 246 233 222 211 202 193 
22 0.1297  353 330 309 291 275 260 247 235 225 215 
23 0.1265  395 368 345 324 306 289 274 261 249 238 
24 0.1233  440 410 383 360 339 320 304 289 275 263 
25 0.1201  490 455 424 398 375 354 335 318 303 289 
26 0.1169  543 503 469 439 413 390 369 350 333 318 
27 0.1137  601 556 517 483 454 428 405 384 365 348 
28 0.1105  663 612 569 531 498 469 443 420 399 380 
29 0.1073  731 673 624 582 545 512 484 458 435 414 
30 0.1041  804 739 684 637 595 559 527 498 473 450 
31 0.1009  883 810 748 695 649 609 573 542 513 488 
32 0.0977  969 887 817 758 707 662 622 587 556 528 
33 0.0945  1062 970 892 825 768 719 675 636 602 571 
34 0.0913  1163 1059 971 897 834 779 731 688 650 616 
35 0.0881  1273 1155 1057 975 904 843 790 743 701 664 
 

 



Reference highlighted values in table above: 

v (m/s) e (dim) R (m) 
15 0.05 113 
20 0.05 219 
30 0.06 559 
15 0.07 103 
25 0.09 303 
30 0.03 684 

 

Subpart C: 

 

 

Problem No. 4: 

Subpart 1: Make sure it is a subroutine and variables are declared using Option Explicit. 

Subpart 2: Ensure subroutine converts kilometers to meters  
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Satellite 
altitude (km): Orbit type: 

Orbital speed 
(m/s) 

Orbital period 
(s) 

Kinetic energy 
(J) 

300 Low-Earth Orbit 7.73E+03 5.41E+03 5.97E+09 

3,500 Medium-Earth Orbit 6.35E+03 9.75E+03 4.03E+09 

10,000 Far-Earth Orbit 4.93E+03 2.08E+04 2.43E+09 

25,000 Far-Earth Orbit 3.56E+03 5.53E+04 1.27E+09 
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